THISEERBEHE REHME

] = A ¥ H 1) £ B
BBEEFHERTE 300,000 300,000| 7% BB B X T &
4 | 28 |EEEZES 3,400 296,600| B EAE
5 | 28 \HFEHM 3,400| 293,200 AfEEAE
6 | 11 |[SLL@EBHRI 1, 5005 28,000 265,200\ /L3R E
6 | 28 |ERSEEHH 3400 261,800/ EHEEAE
7 | 28 |BEATHTRA 3400 258400  AHEEAE
8 | 28 |BRSEEHE 3,400f 255000 &H AR
9 | 28 BRI 3,400 251,600| EHEAE
10 | 28 |ER5EgnR 3,400 248,200 EHEEAE
11| 28 |ERScHtH 3,400 244800\ B EAE
12 | 11 |STHBEMRIY 1, 5008 28,000  216,800| /L3R %
12 | 28 |ERFTHE 3,400 213400[ EHEBEAR
1| 28 |sE=5m 3400| 210,000 AHEHAE
2 | 28 |BEEHRT 3,400 206,600 &I EEAE
3| 3 2EREHH 8400 198200 EHIEAR
3 | 26 DE—REK 2,480 195720/ B #{Epk 2
3 | 28 |FESSEIA 3400 192320( BEHHEAE
3 | 29 |FLLBAEFIRIL 1, 50088 28,000 164,320\ GRE
| 164,320
164,320
164,320
164,320
164,320
164,320
164,320
164,320
164,320
164,320
164,320
=) & 300,000 135,680 164,320




